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e Java IZHBIFTBAT 7 blT, 771@;&%']%& public static int abs(int x) {
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public class Inheritance {

pubOlipC —StnaeE/\IiCO(v)o'id main(Stringl]l args) 1 public static void main(String[] args) {

_ : int x = -3;
gzzqq: new 024); n X =1 + 2 % abs(x);
) assert(x — 7);
} I3
} I3
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class 0 {
int x; import java.util.Random;
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A public class RandomObj {
class 02 extends 0 { 0,02 — (i,x,y) public static void main(String[] args) {
int y; Y int x = new Random().nextInt();
AD7 4 —ILF 0 p =new 0(x);
} - assert (p.isPos());
B }
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main_0() {

w 1

. boolean isPos() {
main_1(il, b0)

return x > 0:;

}

main_1(il1, be@) {
if %il >= *bo Unsafe & 72 2 4]
then main_3(il1l, bo)
else main_2(il1l, bo)

if i1 >= bo
- goto label2;
11 = 11 + 1;
goto labell;

.. |main_3(i1, b@) {
return @
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